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Problem quickname: 9400

1)
Calculate the result.

a) 9.0005 - 94 b) 8.0006 - 73 c¢) 7.0007 - 67 d) 9.0003 - 50
e) 9.0006 - 39 f) 3.0009 - 48 g) 7.0002 - 39 h) 2.0007 - 77
i) 6.0007 - 27 j) 8.0001 - 96

2)

Calculate the result.

a) 0.56 - 90 b) 0.49 - 61 ¢) 54-0.85 d) 98 - 0.79 e) 0.79 - 16
£) 0.51 - 4 g) 0.15 - 96 h) 0.63 - 34 i) 0.38 - 40 i) 0.94 - 32

3)

Calculate the result.

a) 3.6 - 87 b) 8.6 - 83 ¢) 4.2 49 d) 9.7- 90 e) 5.8 87
£) 1.6 -39 g) 2.2 45 h) 6.8 - 54 0)7.2-94 i)5.9-30
4)

Calculate the result.

a) 0.0004 - 301 b) 368 - 0.0002 ¢) 724 - 0.0005 d) 897 - 0.0002
e) 0.0004 - 252 £) 0.0008 - 568 g) 0.0005 - 739 h) 0.0001 - 147
i) 60 - 0.0006 i) 959 - 0.0007

Good Luck!
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